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Note~ You have four choices for each objective type question as A, B, C and D. The choice,

which you think, is correct; fill that circle in

front of that question number. Use marker or pen 1o fill the circles. Cutting or filling two or more circles will result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

on the both sides of the Answer Sheet and fill bubbles accordingly,

(D) (©) (B) (A) QUESTIONS Q-1
Q/L,‘J}"..;f-{/ﬂd‘v J&LJ d//.c Jé__»’ -L/&ﬁ‘f'ic".rb/guxw .1
Heartand Brain Liver Stomach The purpose of rib cage is to protect
Lungs
pf'"): ; A % oo stons bW fie 267 Le L,y | 2
Regeneration | Budding Vegetative | Growing of an entire new plant from part of the
Fragmentation Propagation | origional plant is called
2/ Cf K | AR PRy e et SungS R ids | 3
Ferns Flowering | Gymno Sperms Seedless Double fertilization is the feature of
Plants plants
23 22 21 20 AL izl pro Srn b sndon | 4
Pairs of homologous chromosomes in human body cel] are
4 3 2 1 RPN E S Lt §E it s | s
How many hydrogen bonds are formed between
adenine and thymine?
v Lz 01 A T Wz AA cosn” i | 6
Coyote Robin Hawk Caterpillar Yot Sk s Ut
Which is secondary consumer in food chain
“Tree = Caterpillar = robin — hawk — Coyote”?
Fi B | Feak | S ‘e Frob LRSS auf| g
Sulphur Water Cycle Carbon Nitrogen | which s the perfect biogeochemical cycle?
Cycle Cycle Cycle
2002 2000 1994 1990 Wity s S §prE Ll | 8
; The complete map of human genome was published in
o , o - : &
LB | P £ AL W7 UK 2 Sterite) S 17 | 0
Joseph o
Alexander Lis t:r Aristotle Pasteur Idea of Sterile Surgery for first time was introduced by
| __Fleming
JiAT d)-,.’f/ o2 $AT ?wJﬂJﬁ:’#’AJ LA LJ Ugdi | .10
Arteriole Capillary Vein Artery Which type of blood vessels surrounds the alveoli?
37°C 36°C 35 °C 34°C b 7 e 301 | 11
Core temperature of human body remains constant at about
Ayt EsTS | A DLW L b R LA TP L | 12
Coordinators | Effectors Receptors | The organs, tissues or cells of body that detect the
stimuli are called
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Answer briefly any Five parts from the followings. 5x2=10
g B . e
BTN J,u (i)

— - 56 3,
Write Symptoms of  Asthma 7
What ure Pleural membranes” Write their importance

te S (v)

3

Whatis Lithotripsy?

Witle two lypes ol coordination in vrganisms.

What is Cerebrospinal fluid?

What is the relation of vitamin "A” with vision.
Answer briefly any Five parts from the followings. 5%2=10

befine origin and insertion.

Differentiate betw een cuntilage and bone.

Give an exunple of muluple fission.

ViLisios ailierence between self pollination and cross pollination?

hacis meant by codominance”?

3= P
‘-'.:"_)i/?/c.;j":“/ﬂi (vi)

Suate tue definition of law of Segregation,

wompare the transcription and translation.
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What is Pharynx? ?.;;_i-_-'/v'”“ 2

J‘ ‘J'(V' \.-’ "/u,J’L
A . é 4
Why is excretion necessury? Yo ':.J. S P i e
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What are nucicosomes? ¥ 7y sty
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Answer briefly any Five parts from the followings. 5x2=10 -/ 7 =iz fi’ Lmétr_éi’ Lt A4
Detine endoparasite and explain with example. sl O l;wvvl I J/’o., Cifmanzl A
Describe Predation. -quu,d'ﬁ;f (i) Define global warming. -/ .4},!/"9 .A?A,J:b i
What is fermenter? ('4'...»— = ) What is meant by 3R? ?C-J’/V/L:SR v
‘What are transgenic plants and animals? f‘vji__y.ﬂ)w:‘ :j_,w’ ;i
write a short noie un Marijuana. = _—:‘ e L0202 i
Diefine vaccine” Who introduced it? _m/ el S I f# J/uu"r viii

Part 1 (37 e
Note: Attempt any Two Questions. 9%2=18 -J_/'// /’ .;uy&.»mm.;éfz.;)
Write a note on Kidney Transplant. D) i ,//_,:, ._fu/‘l ;J,, w5
[5eline Antagonism, and explain with the help of example. 1+3 oo Lb:;';I;,u.d Jen g/ ...é_J/’Q 5“/[&! -
<
Detine reedback mechanisms and write a note on its 142+2 .:J,_;E’Ji_.‘b}'f:,:z,"//.é ;u/’/b/:‘-—;»::’ 1.6
erent rypes. V:‘.‘”J
Write & note on the growth in Human P0pui5tion and 1ts 2+2 _ufzd.', _:’: L i ol u')gi':;'ua -
consuquences. '
Describe the scope and importance of biotechnology? (#5) S LF ajiz:l7}; (RTINS
A9 2y ode1r i (Medicinal drugs)e bl 5 4 .

Describe the Principle usage of important medicinal drugs?
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question. Write PAPER CODE, which is printed on this question Paper, on the both sides of the Answer Sheet and fi] bubbles accordingly,

I {D) C B) A QUESTIONS X
" | | S0l vl b ’;;:ig‘,@,ﬁy{:,’ B

! 9 | 7 5 3 ! : | |

j | How man / types of ecelogical pyramids are? I\_{
| S i) iraFsie | Y2l e | iy 2Lt Grs '! 2 |
; Decompousers ! f::f:]mdzz . : ;i’:;?;b Producers | Herbivores are called. | ’.'
L 082 | 1980 l 1978 1976 S e PUE5s B I3 |
f . First time interferons was roduced in i l' _;
A | e ; ‘oS oo 2| 4 |
; Insulin | Cephlosporin Opium Aspirin Which of the following drug is obtained from plants.
} e } Jork AL Sugdy B S L Gy e /
Bronchi | Pleyra) Diaphragm Alveoli Lungs are enclosed by membranes which are called.
| & g i e S Ly 6 ]
"’ Maize ! Cotion | Which plant has succulent organs. I
fE | e VAT 7]
| G ucagon Thyroxin Overies secrete hormone. ' . | |
[ W b L Tk e TR L 4 E ,
! Osteocytes Matrix Lacuna Chondrocytes | The mature bone cells are called. | I
L v VN I et g, | 9
j“Bactena Planarig Rhizopus Yc?st Fragmentation occures in ‘ ll
[ s S o Wac -2V U e s A0
l_ _Ovary Styi Stigma l Anthef Which one of the following is the part of stamen, J'\ . ‘_j
1938 | oz 1934 1932 Vs K 33"'“‘7-\'«""5#/’{‘,’ ; 11 '.’
-

| : E ; 5 :
I Charles Darwin Proposed the mechanism of organic
i

evolution in

fradu | ey o ‘e I GGy .12 J

Ribosome | Nucleosome Blood groups | Which one is an example of continuous variations? |
K
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What is difference in Pneumonia and doubje Pneumonia?
What is Pleural membrane? Write jts function.

Write down symptoms of Bronchitis.

What is nephron?

What is difference in guttation and dew?

Detine ganglion. _’.éu_?/.’.&/wlué! (vii)

Define hormone and give its examples.

Answer briefly any Five parts from the foilowings. 5x2=19

What is the role of skeleton in Support and movement?
What is gout?

Define binary fission.

What is meant by alternation of generations?

Write any two points of Watson Crick mode] of DNA.
Detine genotype and phenotype.

Define artificial selection.

Compare the dominant alleles and recessive alleles.

Answer briefly any Five parts from the followings, 5x2=10

Detine species.
Write two components of an €cosystem.
Draw a simple food chain.. /%, 39l (iv)
Detine Biotechnology.
What is the use ofthymosin hormone?
What is social sti gma? _.gLr’/ L}; J;r (viid)

. S |
Note: Atternpt any Two Quesﬁoné.
Write the osmotic adjustmenis in plant?
What Is Joint? Write its types?
Write down a note on disorders ofnervous systemn,
Write a complete note on parts of flower.
Describe fermentation and its types.

Describe any two groups of antibiotics,

1032 - 1022 = 35000
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Define neuron,
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Define decomposer.
v
Define medicinal drug. . /':_e /7 u'/wu vii
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